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;ﬁgg TEEOBHDESLADKES TEEDHBEESENDRES TEZEOBHOESLADKRES TREOEBESLIDKRES
B2 oma O TR B TR W | = | T [PRRPER R B [PREPERLTS e
; 100kN/ Mm%z 5| Loo| ooo~ 366 159.20|3m%E#BZD| 000~ 216 397 20.09| 100kN/M%EB 25| 100| 1056 ~ 6008 159.20|3m%ERBZ B | 3000 ~ 6008 397 20.09
Zzh st 1.00| 366~ 1144 10000 FNASY | 216~ 1144 300 1516 Zn st 100l 500~ 1056 10000 FNUSY | 500~ 30000 3200 1516
, 100kN/m%E#x 5| 1L0oo| 0oo~ 383 162.42|3mERBZB| 000~ 227 406 2052\ 100kN/M%EB 25| 100| 1053~ 61.43 16242|3mERBR D | 2500 ~ 6143 406 20.52
zhst 100| 383~ 1162 10000 FhLS | 227~ 1162 300 15.16 zTh st 100| 500~ 1053 10000 TSN | 500~ 2500 300 15.16
5 100kN/m%Z#Z%| 100 000~ 389 163.42|3mERBZ S| 000~ 230 408 2064/ 100kN/M%E#BZ 5| 100 1054~ 6800 16342|3mEBZ D | 2500 ~ 6800 408 20.64
ZThish 100 389~ 1167 10000 FNRS | 230~ 1167 300 15.16 ZhLsh 100l 500~ 1054 10000 TN | 500~ 25000 300 1516
p 100kN/m%# % % Loo| o000~ 398 164.99|3m&EBZB| 000~ 239 415 21.00| 100kN/mM%E#B 25 100\ 10.60 ~ 6250 164.99|3mERBZ B | 2500 ~ 6250 415 21.00
Zzh st 1.00| 398~ 1176 100.00| FNUS | 239~ 1176 200 15.16 Zhn st 00| 500~ 1060 100.00| FNUS | 500~ 25000 200 1516
5 100kN/m%#BZ 5| 1L0oo| 0oo~ 383 16230\ 3mERBZB| 000~ 227 406 2051/ 100kN/mM%E#BZ 5| 100| 1053~ 60.00 162.30|3m%ERBZ B | 2500 ~ 60.00| 406 20.51
Zzh st 1.00| 383~ 1161 10000 FNASY | 227~ 1161 300 1516 Zhn st 100l 500~ 1053 10000 FNSY | 500~ 25001 300 1516
p 100kN/m%EHBZ 5| 1L00| 000~ 365 159.04|3ImERBZ B | 000~ 215 397 20.06| 100kN/mM%ERBZ 5| 100| 1056 ~ 60.95 159.04|3mERBZB| 3000 ~ 6095 397 20.06
Zh st 100| 365~ 1143 100,00 TS | 215~ 1143 300 1516 ZFhLst 00| 500~ 1056 100,00 TS | 500~ 3000 300 1516
; 100kN/m%E#BZ%5| 100l 000~ 357 157.62|3mERBASD| ooo~ 210 393 19.87| 100kN/mM%E#BZ 5| 100| 1061~ 7092 157.62|3mERBA D | 5000 ~ 7092 393 19.87
Thist Loo| 357~ 1135 10000 TS | 210~ 1135 300 1516 Fhsn 1.00| 500~ 1061 100.00| FNUS | 500~ 30000 3200 1516
s 100kN/m%E#Bz5| 100 000~ 365 159.05(3m%E#BZB| 000~ 214 396 20.03[ 100kN/mM%E#BZ % 1.00| 1057 ~ 70.00 159.05|3m&EFBZ 5| 30.00 ~ 7000 396 20.03
zhst 100 365~ 1143 100.00 Fh Lo 214~ 1143 300 1516 zTh st 100| 500~ 1057 10000 TSN | 500~ 3000 300 15,16
100kN/m% B2 5% ~ 3mZEHEZD ~ 100kN/m% B2 5% ~ 3mZEHEZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ 3mEERD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD . 100kN/m% 8% 3% o ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD - 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ SmEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




